( B ) V=4 EEEKSL =ILTEE F—L14 (Dream)
He X B AaA7—hk
#H H = 15
=02 (%) E3= GB) REF—LA
5 B 13 H 1 Dream 22 | 52 | 7IR—D747
ey EINER 97— )LX
(%) 2 RIT—ILRX 65 | 32 &/ HIST
5 A 20 H 1 Dream 14 | 30 B —Monkey
ey EINER BAEFE—YH
(1) 2 HAEIF—YH | 40 | 53 E/HIST
6 A 5 H 1 B —Monkey 58 | 28 AT —I)LRX
/TR E/HOST
(B) 2 E/HOST 35 | 58 | 7IRA—T747
6 A 10 H 1 97— )LX 67 | 18 Dream
By EINER BAEFE—YH
(1) 2 TIR—J747 | 67 | 46 | BAEIF—YUH
6 A 17 B 1 Dream 33 | 53 B/ HIST
o BN Dream
(1) 2 EH-TO 7I8—T747-B—Monkey
6 A 26 H 1 B —Monkey TIB—T74T
T/ H TR AT —I)LRX
(B) 2 BAEFE—YH AT —I)LRX
7 A 1 B8 1 Dream TALIF—YH
ey EINER E/HIST
(%) 2 B — Monkey E'/HIST
7 B 10 B 1 AYT—)LX TIB—T74T
T/ H TR RAIT—I)LRX
(B) 2 B —Monkey BAEFE—YH

x ko L/INERABEE 19: 3015




